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. ) \f“ 15Points) Find the limits of the following sequences whose
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. ( 35 Points)Determine the divergence or convergence of the
following series.(Give the name of the test used in each case

and justify your response). A & \bo - é /A\F
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3. ( 8+4+4=16 Points)You are given the series Zl—(z_)n (n'!) whose
sum is to be approximated with the absolute error not
exceeding 0.0001. Answer the following questions:

a) What is the minimum number of terms needed? L
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b) Is the result an overestimation or an underestimation of the
actual sum? Justify.

c) What is the numerical value of your estimate?
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Find the sum the series: Z{(0-3 +tanl(_—)‘t 1(—)}
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. (10+3+3=16 Points) Find the value(s) of x for which the power
_ = (x+2)"
series ”Z;I (4"
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BONUS QUESTIONS: Two points or none for each question:

LxJ)

(
a) Determine the value(s) of x for which the series Z converges.
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b) Find the value of the summation : ;”2 -(0.3)"

A -l A
\a — = 3 e ——
-
Aé(?ﬂﬂ o o =
A 3



